# OBSERVATIONS ON IDENTITIES AND RELATIONS FOR INTERPOLATION FUNCTIONS AND SPECIAL NUMBERS 

IREM KUCUKOGLU AND YILMAZ SIMSEK


#### Abstract

The main motivation of this paper is to study and investigate a new family of combinatorial numbers with their generating functions. Firstly, we obtain some finite series representations including well-known numbers such as the Apostol-Bernoulli numbers, the Apostol-Euler numbers, a family of combinatorial numbers, the Daehee numbers, the Changhee numbers and the Stirling numbers of the second kind. Secondly, applying Mellin transform to these functions, we give interpolation functions for these numbers. We investigate some properties of these functions and other related complex valued functions. We observe that some special values of these functions give us the terms of some well-known infinite series. Thus, these functions unify the terms of some well-known identities and functions such as Hasse identity, the polylogarithm function, the digamma function, the Riemann zeta functions, the alternating Riemann zeta function, the Hurwitz zeta function, the alternating Hurwitz zeta function, the Hurwitz-Lerch zeta function and the other functions. Moreover, we give some remarks and observations about these functions related to some special numbers and polynomials such as the Stirling numbers of the second kind, the harmonic numbers, the array polynomials and also related to hypergeometric functions, the family of zeta functions. We also give not only Riemann integral representation, but also Cauchy integral representations for this new family of combinatorial numbers. Finally, in order to compute numerical values of these interpolation functions and other related complex valued functions, we present two algorithms. Furthermore, by using these algorithms, we provide some plots of these functions. Also, we investigate the effects of their parameters.


2010 Mathematics Subject Classification. 05A10, 05A15, 11B68, 11B83, 11M35, 11S23, 26C99, 33B15.
Keywords and phrases. Generating functions, Apostol-Bernoulli numbers, Apostol-Euler numbers, Combinatorial sums, Daehee numbers, Binomial coefficients, Zeta functions, Combinatorial numbers.

## 1. Introduction

Interpolation functions for the special numbers and polynomials are very important in analytic number theory and mathematical pyhsics. The motivation of this paper is to derive interpolation functions for the combinatorial numbers $y_{1}(n, k ; \lambda)$. We investigate some properties of these functions and other related complex valued functions. We also investigate relations

The present investigation was supported by the Scientific Research Project Administration of Akdeniz University(with Project Number: FDK-2017-2375).
between these functions and some well-known functions such as the polylogarithm function, the digamma function, the Riemann zeta functions, the alternating Riemann zeta function, the Hurwitz zeta function, the alternating Hurwitz zeta function, the Hurwitz-Lerch zeta function and the other functions. Moreover, we give some finite series representations including the Apostol-Bernoulli numbers, the Apostol-Euler numbers, the combinatorial numbers $y_{1}(n, k ; \lambda)$, the Daehee numbers, the Changhee numbers and the Stirling numbers of the second kind.

In order to derive the results of this paper, we need the following notations, definitions, identities and formulas:

Let $\mathbb{N}=\{1,2,3, \ldots\}, \mathbb{N}_{0}=\mathbb{N} \cup\{0\}$. Here, $\mathbb{Z}, \mathbb{R}$ and $\mathbb{C}$ corresponds the set of integers, the set of real numbers and the set of complex numbers, respectively. Let tacitly assume that

$$
0^{n}= \begin{cases}1, & n=0 \\ 0, & n \in \mathbb{N}\end{cases}
$$

Simsek [33] defined the combinatorial numbers $y_{1}(n, k ; \lambda)$ by means of the following generating function:

$$
\begin{equation*}
F_{y 1}(t, k ; \lambda)=\frac{1}{k!}\left(\lambda e^{t}+1\right)^{k}=\sum_{n=0}^{\infty} y_{1}(n, k ; \lambda) \frac{t^{n}}{n!} \tag{1}
\end{equation*}
$$

where $k \in \mathbb{N}_{0}$ and $\lambda \in \mathbb{C}$. From the above equation, one has the explicit formula for the combinatorial numbers $y_{1}(n, k ; \lambda)$ as follows:

$$
\begin{equation*}
y_{1}(n, k ; \lambda)=\frac{1}{k!} \sum_{j=0}^{k}\binom{k}{j} j^{n} \lambda^{j} \tag{2}
\end{equation*}
$$

where $n \in \mathbb{Z}^{+}$. Note that for $\lambda=1$, the numbers $y_{1}(n, k ; \lambda)$ are reduced to the following combinatorial sum:

$$
\begin{equation*}
B(n, k)=k!y_{1}(n, k ; 1)=\sum_{j=0}^{k}\binom{k}{j} j^{n} \tag{3}
\end{equation*}
$$

(cf. [30], [33], [31]).
As in [33], assuming that $\lambda \neq 0$, Table 1 includes some values of the numbers $y_{1}(n, k ; \lambda)$ for $k=0,1,2,3,4$ and $n=0,1,2,3,4,5$ :

| $n \backslash k$ | 0 | 1 | 2 | 3 | 4 |
| :--- | :--- | :--- | :--- | :--- | :--- |
| 0 | 1 | $\lambda+1$ | $\frac{1}{2} \lambda^{2}+\lambda+\frac{1}{2}$ | $\frac{1}{6} \lambda^{3}+\frac{1}{2} \lambda^{2}+\frac{1}{2} \lambda+\frac{1}{6}$ | $\frac{1}{24} \lambda^{4}+\frac{1}{6} \lambda^{3}+\frac{1}{4} \lambda^{2}+\frac{1}{6} \lambda+\frac{1}{24}$ |
| 1 | 0 | $\lambda$ | $\lambda^{2}+\lambda$ | $\frac{1}{2} \lambda^{3}+\lambda^{2}+\frac{1}{2} \lambda$ | $\frac{1}{6} \lambda^{4}+\frac{1}{2} \lambda^{3}+\frac{1}{2} \lambda^{2}+\frac{1}{6} \lambda$ |
| 2 | 0 | $\lambda$ | $2 \lambda^{2}+\lambda$ | $\frac{3}{2} \lambda^{3}+2 \lambda^{2}+\frac{1}{2} \lambda$ | $\frac{2}{3} \lambda^{4}+\frac{3}{2} \lambda^{3}+\lambda^{2}+\frac{1}{6} \lambda$ |
| 3 | 0 | $\lambda$ | $4 \lambda^{2}+\lambda$ | $\frac{9}{2} \lambda^{3}+4 \lambda^{2}+\frac{1}{2} \lambda$ | $\frac{8}{3} \lambda^{4}+\frac{9}{2} \lambda^{3}+2 \lambda^{2}+\frac{1}{6} \lambda$ |
| 4 | 0 | $\lambda$ | $8 \lambda^{2}+\lambda$ | $\frac{27}{2} \lambda^{3}+8 \lambda^{2}+\frac{1}{2} \lambda$ | $\frac{32}{3} \lambda^{4}+\frac{27}{2} \lambda^{3}+4 \lambda^{2}+\frac{1}{6} \lambda$ |
| 5 | 0 | $\lambda$ | $16 \lambda^{2}+\lambda$ | $\frac{81}{2} \lambda^{3}+16 \lambda^{2}+\frac{1}{2} \lambda$ | $\frac{128}{3} \lambda^{4}+\frac{81}{2} \lambda^{3}+8 \lambda^{2}+\frac{1}{6} \lambda$ |

Table 1. Some numerical values of the numbers $y_{1}(n, k ; \lambda)$ (cf. [33]).

The Stirling numbers of the second kind $S_{2}(n, k)$ are defined by the following explicit formula:

$$
\begin{equation*}
S_{2}(n, v)=\frac{1}{v!} \sum_{j=0}^{v}\binom{v}{j}(-1)^{j}(v-j)^{n} \tag{4}
\end{equation*}
$$

These numbers have the following relations: $S_{2}(0,0)=1, S_{2}(n, v)=0$ if $v>n ; S_{2}(n, 0)=0$ if $n>0(c f .[3],[6],[7],[9],[38] ;$ and the references cited therein).

A relation between the Stirling numbers of the second kind and the combinatorial numbers $y_{1}(n, k ; \lambda)$ given by ( $c f .[30]$ ):

$$
\begin{equation*}
S_{2}(n, k)=(-1)^{k} y_{1}(n, k ;-1) \tag{5}
\end{equation*}
$$

In $[4$, p. 4, Eq-(7)], Boyadzhiev gave the following two identities related to the Stirling numbers of the second kind:

$$
\begin{equation*}
\sum_{k=0}^{n}\binom{n}{k} k^{p} x^{k}=\sum_{j=0}^{p}\binom{n}{j} S_{2}(p, j) j!x^{j}(1+x)^{n-j} \tag{6}
\end{equation*}
$$

and
(7)

$$
\sum_{k=0}^{n}\binom{n}{k}(-1)^{k-1} k^{p} x^{k}=\sum_{j=0}^{p}\binom{n}{j} S_{2}(p, j) j!(-1)^{j-1} x^{j}(1-x)^{n-j}
$$

It also should be note that

$$
\begin{equation*}
B(m, n)=\sum_{j=0}^{m}\binom{n}{j} j!2^{n-j} S_{2}(m, j) \tag{8}
\end{equation*}
$$

(cf. [33]).
The $\lambda$-array polynomials $S_{v}^{n}(x ; \lambda)$ are defined by Simsek [27] with the following generating function:

$$
\frac{\left(\lambda e^{t}-1\right)^{v}}{v!} e^{x t}=\sum_{n=0}^{\infty} S_{v}^{n}(x ; \lambda) \frac{t^{n}}{n!}
$$

where $v \in \mathbb{N}_{0}$ and $\lambda \in \mathbb{C}$. For $\lambda=1$, these polynomials are reduced to the classical array polynomials $S_{v}^{n}(x)$ :

$$
S_{v}^{n}(x)=S_{v}^{n}(x ; 1)
$$

which are given by the following combinatorial sum:

$$
\begin{equation*}
S_{v}^{n}(x)=\sum_{j=0}^{n}\binom{n}{j} x^{n-j} S_{2}(j, v) \tag{9}
\end{equation*}
$$

(cf. [2], [5], [6], [26, Theorem 2], [27, Remark 3.3]).
A relation between the $\lambda$-array polynomials $S_{v}^{n}(x ; \lambda)$ and the combinatorial numbers $y_{1}(n, k ; \lambda)$ given by

$$
S_{k}^{n}(0 ; \lambda)=(-1)^{k} y_{1}(n, k ;-\lambda)
$$

The $\lambda$-Stirling numbers are defined by

$$
S_{2}(n, v ; \lambda)=\frac{1}{v!} \sum_{j=0}^{v}(-1)^{v-j}\binom{v}{j} \lambda^{j} j^{n}
$$

(cf. [24], [27]). A relation between the $\lambda$-Stirling numbers and the combinatorial numbers $y_{1}(n, k ; \lambda)$ given by

$$
\begin{equation*}
S_{2}(n, v ; \lambda)=(-1)^{v} y_{1}(n, v ;-\lambda) . \tag{10}
\end{equation*}
$$

The Bernstein basis functions $B_{k}^{n}(x)$ are defined as follows:

$$
\begin{equation*}
B_{k}^{n}(x)=\binom{n}{k} x^{k}(1-x)^{n-k} \tag{11}
\end{equation*}
$$

and integral formula for these polynomials are given as follows:

$$
\begin{equation*}
\int_{0}^{1} B_{k}^{n}(x) d x=\frac{1}{n+1} \tag{12}
\end{equation*}
$$

(cf. [23]).
The Apostol-Bernoulli numbers $\mathcal{B}_{n}(\lambda)$ are defined by

$$
\begin{equation*}
F_{\mathcal{B}}(t ; \lambda)=\frac{t}{\lambda e^{t}-1}=\sum_{n=0}^{\infty} \mathcal{B}_{n}(\lambda) \frac{t^{n}}{n!} \tag{13}
\end{equation*}
$$

where $|t+\log \lambda|<2 \pi$ (cf. [38]).
The Apostol-Euler numbers $\mathcal{E}_{n}(\lambda)$ are defined by

$$
\begin{equation*}
F_{\mathcal{E}}(t ; \lambda)=\frac{2}{\lambda e^{t}+1}=\sum_{n=0}^{\infty} \mathcal{E}_{n}(\lambda) \frac{t^{n}}{n!} \tag{14}
\end{equation*}
$$

where $|t+\log \lambda|<\pi$ (cf. [19], [38]; see also the references cited in each of these earlier works).

The Daehee numbers are defined by

$$
\begin{equation*}
\frac{\log (1+t)}{t}=\sum_{n=0}^{\infty} D_{n} \frac{t^{n}}{n!} \tag{15}
\end{equation*}
$$

(cf. [15], [20], [22]; see also the references cited in each of these earlier works).

By using (15), one has the explicit formula for the Daehee numbers given by

$$
\begin{equation*}
D_{n}=(-1)^{n} \frac{n!}{n+1} \tag{16}
\end{equation*}
$$

(cf. [25, p. 45], [20], [29]; see also the references cited in each of these earlier works).

The remainder of the present paper is summarized as follows:
In Section 1, we derive some finite series representations including the Apostol-Bernoulli numbers, the Apostol-Euler numbers, the combinatorial numbers $y_{1}(n, k ; \lambda)$, the Daehee numbers, the Changhee numbers and the Stirling numbers of the second kind. We also give some remarks and corollaries.

In Section 2, we present an interpolation function of the combinatorial numbers $y_{1}(n, k ; \lambda)$. Furthermore, we give some remarks and applications including complex valued functions associated with these interpolation functions and some special functions.

In Section 3, we present integral representations for the combinatorial numbers $y_{1}(n, k ; \lambda)$ including not only Riemann integral, but also Cauchy integral representations.

In Section 4, we provide computation algorithms for the newly defined complex valued functions and their interpolation functions. We also provide some plots of these functions.
2. Finite series Representations including the combinatorial numbers $y_{1}(n, k ; \lambda)$, the Daehee numbers and the Changhee NUMBERS

In this section, we give finite series representations including the ApostolBernoulli numbers, the Apostol-Euler numbers, the combinatorial numbers $y_{1}(n, k ; \lambda)$, the Daehee numbers, the Changhee numbers and the Stirling numbers of the second kind. We also give some remarks and corollaries.

From (1) and (14), we have

$$
\frac{2}{k} F_{y 1}(t, k-1 ; \lambda)=F_{y 1}(t, k ; \lambda) F_{\mathcal{E}}(t ; \lambda)
$$

which is the special case when $v=1$ of a functional equation given by Yuluklu et al. [39, p. 4842].

It follows from the above functional equation that

$$
\frac{2}{k} \sum_{n=0}^{\infty} y_{1}(n, k-1 ; \lambda) \frac{t^{n}}{n!}=\sum_{n=0}^{\infty} y_{1}(n, k ; \lambda) \frac{t^{n}}{n!} \sum_{n=0}^{\infty} \mathcal{E}_{n}(\lambda) \frac{t^{n}}{n!}
$$

Comparing the coefficients of $\frac{t^{n}}{n!}$ on both sides of the above equation yields the special case when $v=1$ of Theorem 2.8 in the work of Yuluklu et al. [39, p. 4842] as follows:

$$
\begin{equation*}
y_{1}(n, k-1 ; \lambda)=\frac{k}{2} \sum_{j=0}^{n}\binom{n}{j} \mathcal{E}_{n-j}(\lambda) y_{1}(j, k ; \lambda) \tag{17}
\end{equation*}
$$

Substituting $\lambda=1$ into (17) and combining (3) and (8) with final equation yields the following corollary:

Corollary 2.1.

$$
\begin{equation*}
B(n, k-1)=\frac{1}{2} \sum_{j=0}^{n} \sum_{v=0}^{j}\binom{n}{j}\binom{k}{v} v!2^{k-v} \mathcal{E}_{n-j}(1) S_{2}(j, v) \tag{18}
\end{equation*}
$$

From (13) and (14), we have

$$
\sum_{n=0}^{\infty} \mathcal{E}_{n}(-\lambda) \frac{t^{n}}{n!}=-2 \sum_{n=0}^{\infty} \frac{\mathcal{B}_{n+1}(\lambda)}{n+1} \frac{t^{n}}{n!}
$$

By using the above equation, one can easily get the following well-known relation between the Apostol-Bernoulli numbers and the Apostol-Euler numbers

$$
\begin{equation*}
\mathcal{E}_{n}(-\lambda)=-\frac{2}{n+1} \mathcal{B}_{n+1}(\lambda) ; \quad(\lambda \neq 1) \tag{19}
\end{equation*}
$$

Substituting the above equation into (17) yields the following theorem:

## Theorem 2.2.

$$
\begin{equation*}
y_{1}(n, k-1 ; \lambda)=-k \sum_{j=0}^{n}\binom{n}{j} \frac{\mathcal{B}_{n-j+1}(-\lambda)}{n-j+1} y_{1}(j, k ; \lambda) . \tag{20}
\end{equation*}
$$

Substituting $\lambda=1$ into (20) and combining (3) and (8) with final equation yields the following corollary:

## Corollary 2.3 .

$$
\begin{equation*}
B(n, k-1)=-\sum_{j=0}^{n} \sum_{v=0}^{j}\binom{n}{j}\binom{k}{v} \frac{v!2^{k-v} \mathcal{B}_{n-j+1}(-1) S_{2}(j, v)}{n-j+1} . \tag{21}
\end{equation*}
$$

From the work of Simsek [34, Corollary 2], we know that

$$
\begin{equation*}
\mathcal{B}_{m}(\lambda)=\frac{m}{2} \sum_{v=0}^{m-1} \frac{(-1)^{v+1}}{\lambda^{v}} C h_{v}(-\lambda, 1) S_{2}(m-1, v) \tag{22}
\end{equation*}
$$

where $C h_{v}(\lambda, 1)$ denotes the Changhee type numbers which, for $\lambda=1$, yields the Changhee numbers with

$$
C h_{v}=C h_{v}(1,1)=\frac{(-1)^{v} v!}{2^{v}}
$$

(cf. [21]).
Substituting (22) into (20) yields the following theorem:

## Theorem 2.4.

$$
\begin{align*}
y_{1}(n, k-1 ; \lambda)= & -\frac{k}{2} \sum_{j=0}^{n}\binom{n}{j} y_{1}(j, k ; \lambda) \sum_{v=0}^{n-j} \frac{(-1)^{v+1}}{\lambda^{v}}  \tag{23}\\
& \times C h_{v}(\lambda, 1) S_{2}(n-j, v)
\end{align*}
$$

Substituting $\lambda=1$ into (24) and using (3) yields the following corollary:

## Corollary 2.5.

$$
\begin{align*}
B(n, k-1)= & -\frac{1}{2} \sum_{j=0}^{n}\binom{n}{j} B(j, k) \sum_{v=0}^{n-j} \frac{(-1)^{v+1}}{\lambda^{v}} C h_{v}  \tag{24}\\
& \times S_{2}(n-j, v)
\end{align*}
$$

Combining (16) and (19), we have

$$
\begin{equation*}
\mathcal{E}_{n}(-\lambda)=\frac{2(-1)^{n+1} D_{n}}{n!} \mathcal{B}_{n+1}(\lambda) ; \quad(\lambda \neq 1) \tag{25}
\end{equation*}
$$

Combining the above relation with (17) yields the following theorem:
Theorem 2.6.

$$
\begin{align*}
y_{1}(n, k-1 ; \lambda)= & k \sum_{j=0}^{n}(-1)^{n-j+1}\binom{n}{j} \frac{D_{n-j}}{(n-j)!}  \tag{26}\\
& \times \mathcal{B}_{n-j+1}(-\lambda) y_{1}(j, k ; \lambda) .
\end{align*}
$$

Substituting $\lambda=-\lambda$ into (26) and using (10) yields the following corollary:

## Corollary 2.7.

$$
\begin{align*}
S_{2}(n, k-1 ; \lambda)= & -k \sum_{j=0}^{n}(-1)^{n-j+1}\binom{n}{j} \frac{D_{n-j}}{(n-j)!}  \tag{27}\\
& \times \mathcal{B}_{n-j+1}(\lambda) S_{2}(j, k ; \lambda) .
\end{align*}
$$

3. Interpolation Function of the combinatorial numbers

$$
y_{1}(n, k ; \lambda)
$$

In this section, we give an interpolation function of the numbers $y_{1}(n, k ; \lambda)$. This function interpolates the numbers $y_{1}(n, k ; \lambda)$ at negative integers. Also, we investigate some properties of complex valued functions associated with these interpolation functions. Moreover, we give remarks, observations and applications on these functions.

Let $s \in \mathbb{C}$. By applying the Mellin transformation to (1), we get

$$
\begin{equation*}
g(s, k ; \lambda)=\frac{1}{\Gamma(s)} \int_{0}^{\infty} t^{s-1} F_{y 1}(-t, k ; \lambda) d t \tag{28}
\end{equation*}
$$

where $\Gamma(s)$ denotes the Euler gamma function and $\operatorname{Re}(s)>0$.
Theorem 3.1. Let $n \in \mathbb{Z}^{+}$. Then we have

$$
g(-n, k ; \lambda)=y_{1}(n, k ; \lambda) .
$$

Proof. The proof of this theorem is similar to that of Theorem 8 in [37, p. 254]. We give sketch of proof as follows: Substituting $s=-n, n \in \mathbb{Z}^{+}$into (28) and by using Cauchy Residue Theorem in (28), we arrive at desired result.

We modify integral equation in (28) as follows:
Let $\min \{\operatorname{Re}(s), \operatorname{Re}(x)\}>0$. Then,

$$
\begin{equation*}
\frac{1}{\Gamma(s)} \int_{0}^{\infty} F_{y 1}(-t, k ; \lambda) e^{-x t} t^{s-1} d t=\frac{1}{k!} \sum_{j=0}^{k}\binom{k}{j} \frac{\lambda^{j}}{(j+x)^{s}} \tag{29}
\end{equation*}
$$

where the additional constraint $\operatorname{Re}(x)>0$ is required for the convergence of the infinite integral occurring on the left-hand side at its upper terminal.

By using the integral transform in (29), we define the following complex valued functions:

Definition 3.2. Let $k \in \mathbb{N}$ and $s \in \mathbb{C}$. We define

$$
\begin{equation*}
h(s, x ; k ; \lambda)=\frac{1}{k!} \sum_{j=0}^{k}\binom{k}{j} \frac{\lambda^{j}}{(j+x)^{s}} . \tag{30}
\end{equation*}
$$

Note that there is one complex valued function for each value of $k$.
Setting $s=-n\left(n \in \mathbb{Z}^{+}\right)$into the above equation, we have

$$
h(-n, x ; k ; \lambda)=\frac{1}{k!} \sum_{l=0}^{n}\binom{n}{l} x^{n-l} \sum_{j=0}^{k}\binom{k}{j} \lambda^{j} j^{l} .
$$

By using (2) in the above equation, we arrive at the following theorem:

Theorem 3.3. Let $n, k \in \mathbb{N}$ and $\lambda \in \mathbb{C}$. Then we have

$$
\begin{equation*}
h(-n, x ; k ; \lambda)=\sum_{l=0}^{n}\binom{n}{l} x^{n-l} y_{1}(l, k ; \lambda) . \tag{31}
\end{equation*}
$$

The right-hand side of the equation (31) is related to very famous combinatorial sums and special numbers. Therefore, we give some important applications for the formula in (31) as follows:

Substituting $\lambda=-1$ into (31) and using (5) and (9), we get a relation between the function $h(-n, x ; k ; \lambda)$ and the classical array polynomials by the following corollary:

Corollary 3.4. Let $n, k \in \mathbb{N}$. Then we have

$$
\begin{equation*}
h(-n, x ; k ;-1)=(-1)^{k} S_{k}^{n}(x) \tag{32}
\end{equation*}
$$

Remark 3.5. In the special case when $x=1$, equation (32) is reduced to

$$
h(-n, 1 ; k ;-1)=(-1)^{k} \sum_{l=0}^{n}\binom{n}{l} S_{2}(l, k) .
$$

Moreover, substituting $\lambda=1$ into (31) and using (3), we also get the following corollary:
Corollary 3.6. Let $n, k \in \mathbb{N}$. Then we have

$$
\begin{equation*}
h(-n, x ; k ; 1)=\frac{1}{k!} \sum_{l=0}^{n}\binom{n}{l} x^{n-l} B(l, k) . \tag{33}
\end{equation*}
$$

Note that the right-hand side of the equation (30) is related to very famous special functions, combinatorial sums and special numbers. For this reason, in addition to the above applications, we also give some important applications for the formula in (30) as follows:
Remark 3.7. Substituting $\lambda=-1$ and $s=1$ into the equation (30), we get

$$
\begin{equation*}
h(1, x ; k ;-1)=\frac{1}{x(x+1) \ldots(x+k)} \tag{34}
\end{equation*}
$$

which is deduced from the partial fraction decomposition given in [17, p.188] for $k \in \mathbb{N}_{0}$ as follows:

$$
\frac{k!}{x(x+1) \ldots(x+k)}=\sum_{j=0}^{k}(-1)^{j}\binom{k}{j} \frac{1}{j+x} ; \quad(x \notin\{0,-1, \ldots,-n\}) .
$$

By letting $x \rightarrow-1$ in the above equation, we have

$$
\sum_{j=2}^{k}(-1)^{j}\binom{k}{j} \frac{1}{j-1}=1-k+k H_{k-1} \quad(k \in \mathbb{N})
$$

where

$$
H_{k}=\sum_{j=1}^{k} \frac{1}{j}
$$

(cf. [8, Eq. (2.1)], [17, p.188], [28] and [36]).

Remark 3.8. In [28], Simsek proved the following combinatorial sum:

$$
\sum_{j=k}^{n}(-1)^{n-j}\binom{n}{j} \frac{1}{j+1}=(-1)^{n-k}\binom{n}{k} \frac{1}{n+1}
$$

Taking into account the above formula for $k=0$ and substituting $s=x=1$ and $\lambda=-1$ into (30), then we also have

$$
k!h(1,1 ; k ;-1)=\frac{1}{n+1}
$$

Remark 3.9. If we substitute $s=x=\lambda=1$ into the equation (30), we have

$$
k!h(1,1 ; k ; 1)=\sum_{j=0}^{k}\binom{k}{j} \frac{1}{j+1}=\frac{2^{k+1}-1}{k+1}
$$

which was given in [36, Identity 13].
Remark 3.10. From the work of Connon [13, Eq-(4.4.99d)], we have

$$
h(s, x ; k ;-1)=\frac{(-1)^{1-s}}{k!(s-1)!} \int_{0}^{1} t^{x-1}(1-t)^{k} \log ^{s-1} t d t
$$

Remark 3.11. Also, from the work of Connon [11, p.62, Eq-(4.3.70a)], we have

$$
\sum_{k=0}^{\infty} \frac{k!h(s, x ; k ;-1)}{k+1}=\frac{(-1)^{1-s}}{(s-1)!} \psi^{(s)}(x)
$$

where $\psi^{(s)}(x)$ denotes $s$-th derivative of the digamma function, also called polygamma function defined by

$$
\psi(x)=\frac{d}{d x}\{\log \Gamma(x)\}
$$

(cf. [38, p. 24]).
Remark 3.12. Observe that the function $h(s, x ; k ; \lambda)$ is related to the sum $S_{k}(\lambda, x)$ which was defined by Connon in [12, p.132, Eq-(4.4.43b)] and [14, p.12, Eq-(4)]. That is,

$$
S_{k}(\lambda, x)=k!h(s, x ; k ; \lambda) .
$$

We set

$$
\begin{equation*}
H(s, x ; \lambda)=\sum_{k=0}^{\infty} a_{k} h(s, x ; k ; \lambda) . \tag{35}
\end{equation*}
$$

Substituting $a_{k}=(-1)^{k} D_{k}=\frac{k!}{k+1}$ and $\lambda=-\alpha$ into (35) reduces to the following identity, which was given by Connon [14, p. 15, Eq. (11)], we have

$$
\sum_{k=0}^{\infty}(-1)^{k} h(s, x ; k ;-\alpha) D_{k}=s \Phi(\alpha, s+1, x)-\Phi(\alpha, s, x) \log (\alpha)
$$

where $\Phi(\alpha, s, x)$ denotes the Hurwitz-Lerch zeta function which is defined by (cf. [38, p. 194 et seq.]):

$$
\Phi(\alpha, s, x)=\sum_{n=0}^{\infty} \frac{\alpha^{n}}{(n+x)^{s}}
$$

where $x \in \mathbb{C} \backslash \mathbb{Z}_{0}^{-} ; s \in \mathbb{C}$ when $|\alpha|<1 ; \operatorname{Re}(s)>1$ when $|\alpha|=1$. Some special cases of parameter $\alpha$ give us the following well-known interpolation functions for the Bernoulli numbers and polynomials such as the Riemann zeta function and the Hurwitz zeta function respectively as follows (see, for details, [38, Chapter 2]):

$$
\Phi(1, s, 1)=\zeta(s)=\sum_{n=1}^{\infty} \frac{1}{n^{s}},(\operatorname{Re}(s)>1)
$$

and

$$
\Phi(1, s, a)=\zeta(s, a)=\sum_{n=0}^{\infty} \frac{1}{(n+a)^{s}},(\operatorname{Re}(s)>1)
$$

Substituting $a_{k}=\frac{k!}{2^{k+1}}=\frac{(-1)^{k} C h_{k}}{2}, \lambda=-1$ and $x=1$ into (35) reduces to the following identity, which was given by Connon [10, p. 28, Eq. (3.11)], we have

$$
\sum_{k=0}^{\infty}(-1)^{k} h(s, 1 ; k ;-1) C h_{k}=\left(1-2^{1-s}\right) \zeta(s)
$$

The above equation is also known as Hasse's formula(may be also called Hasse-Sondow identity) proved and investigated before by Hasse and Sondow in [18] and [35].

Remark 3.13. The sum in (35) is related to many known functions and also other unknown functions for the special values of the sequences $\left(a_{k}\right) ;(k \in \mathbb{N})$. That is, the special cases of the sequences $\left(a_{k}\right)$ with different values of the parameters $\lambda$ and $x$ in (35), one has more identities for some infinite series related to the Hasse identity, the polylogarithm function, the digamma function, the Riemann zeta functions, the alternating Riemann zeta function, the Hurwitz zeta function, the alternating Hurwitz zeta function, the HurwitzLerch zeta function and the other functions. For examples, the reader can consult the following references: [1], [10], [11], [12], [13], [14, p. 12, Eq. (4)] and [38]; (see also the related references cited therein).

Now, we give a hypergeometric function representation of the function $h(s, x ; k ; \lambda)$ by the following theorem:

## Theorem 3.14.

$$
h(s, x ; k ; \lambda)=\frac{1}{k!} \sum_{j=0}^{k}\binom{k}{j} \lambda^{j} x^{-s}{ }_{1} F_{0}\left(-s ;-; \frac{j}{x}\right)
$$

where ${ }_{1} F_{0}$ denotes hypergeometric function defined by

$$
{ }_{1} F_{0}(a ;-; x)=\sum_{n=0}^{\infty}(a)_{n} \frac{x^{n}}{n!}
$$

where $(a)_{n}$ denotes the falling factorial polynomials, which defined by

$$
(a)_{n}=a(a-1)(a-2) \ldots(a-n+1) \quad(a \in \mathbb{C} ; n \in \mathbb{N})
$$

and

$$
(a)_{0}=1 \quad(a \in \mathbb{C})
$$

Proof. By using negative binomial series expansion in (30), we get

$$
h(s, x ; k ; \lambda)=\frac{1}{k!} \sum_{j=0}^{k}\binom{k}{j} \lambda^{j} x^{-s} \sum_{n=0}^{\infty}\binom{-s}{n}\left(\frac{j}{x}\right)^{n}
$$

Thus, we get

$$
h(s, x ; k ; \lambda)=\frac{1}{k!} \sum_{j=0}^{k}\binom{k}{j} \lambda^{j} x^{-s} \sum_{n=0}^{\infty}(-s)_{n} \frac{\left(\frac{j}{x}\right)^{n}}{n!} .
$$

By using definition of ${ }_{1} F_{0}$ in the above equation, we arrive at the desired result.

## 4. Integral REpresentation for the numbers $y_{1}(n, k ; \lambda)$

In this section, we give two type integral representations for the numbers $y_{1}(n, k ; \lambda)$ including Riemann integral and Cauchy integral representations.

Firstly, we give the Riemann integral representation for the numbers $y_{1}(n, k ; \lambda)$ with respect to $\lambda$. Integrating both sides of the equation (2), we get

$$
\int_{0}^{x} y_{1}(n, k ; \lambda) d \lambda=\frac{1}{k!} \sum_{j=0}^{k}\binom{k}{j} j^{n} \int_{0}^{x} \lambda^{j} d \lambda .
$$

From the above equation, we arrive at the following lemma:

## Lemma 4.1.

$$
\begin{equation*}
\int_{0}^{x} y_{1}(n, k ; \lambda) d \lambda=\frac{1}{k!} \sum_{j=0}^{k}\binom{k}{j} j^{n} \frac{x^{j+1}}{j+1} . \tag{36}
\end{equation*}
$$

Substituting $x=-1$ into (36), we arrive at the following corollary:

## Corollary 4.2.

$$
\begin{equation*}
\int_{-1}^{0} y_{1}(n, k ; \lambda) d \lambda=\frac{1}{k!} \sum_{j=0}^{k}\binom{k}{j}(-1)^{j} \frac{j^{n}}{j+1} . \tag{37}
\end{equation*}
$$

Theorem 4.3.

$$
\begin{equation*}
\sum_{j=0}^{k}\binom{k}{j}(-1)^{j} \frac{j^{n}}{j+1}=\frac{1}{k+1} \sum_{j=0}^{n} S_{2}(n, j) j!(-1)^{j} \tag{38}
\end{equation*}
$$

Proof. By combining (7) and (11), we have

$$
\begin{equation*}
\sum_{j=0}^{k}\binom{k}{j}(-1)^{j} j^{n} x^{j}=\sum_{j=0}^{n} S_{2}(n, j) j!(-1)^{j} B_{j}^{k}(x) \tag{39}
\end{equation*}
$$

where $B_{j}^{k}(x)$ denotes the Bernstein basis functions. Integrating both sides of equation (39) from 0 to 1 and using equation (12), we get the desired result.

Combining (37) with (38), we get the following corollary:

## Corollary 4.4.

$$
\begin{equation*}
\int_{-1}^{0} y_{1}(n, k ; \lambda) d \lambda=\frac{1}{(k+1)!} \sum_{j=0}^{n} S_{2}(n, j) j!(-1)^{j} \tag{40}
\end{equation*}
$$

By using same method that of [32], secondly we give a Cauchy integral representation for the numbers $y_{1}(n, k ; \lambda)$. By applying the Cauchy Residue Theorem to the generating function for the numbers $y_{1}(n, k ; \lambda)$, we derive a Cauchy integral representation for these numbers by the following theorem:

## Theorem 4.5.

$$
\begin{equation*}
y_{1}(n, k ; \lambda)=\frac{n!}{2 \pi i} \int_{\mathcal{C}} F_{y 1}(z, k ; \lambda) \frac{d z}{z^{n+1}} \tag{41}
\end{equation*}
$$

where $\mathcal{C}$ is a circle around the origin and the integration is in positive direction, $\lambda, z \in \mathbb{C}$ and $n \in \mathbb{Z}^{+}$.

Proof. By using Cauchy Residue Theorem with generating functions for the numbers $y_{1}(n, k ; \lambda)$, we have

$$
\begin{equation*}
\frac{n!}{2 \pi i} \int_{\mathcal{C}} F_{y 1}(z, k ; \lambda) \frac{d z}{z^{n+1}}=\frac{n!}{2 \pi i}\left(2 \pi i \operatorname{Res}\left(\frac{F_{y 1}(z, k ; \lambda)}{z^{n+1}}, 0\right)\right) \tag{42}
\end{equation*}
$$

where $\operatorname{Res}(f(z), a)$ denotes the residue of $f(z)$ function at $z=a$. By using the following Laurent series expansion,

$$
\begin{aligned}
\frac{F_{y 1}(z, k ; \lambda)}{z^{n+1}}= & \sum_{m=0}^{\infty} y_{1}(m, k ; \lambda) \frac{z^{m-n-1}}{m!} \\
= & y_{1}(0, k ; \lambda) \frac{1}{z^{n+1}}+y_{1}(1, k ; \lambda) \frac{1}{z^{n}}+\cdots+\frac{y_{1}(n-1, k ; \lambda)}{(n-) 1!} \frac{1}{z^{2}} \\
& +\frac{y_{1}(n, k ; \lambda)}{n!} \frac{1}{z}+\frac{y_{1}(n+1, k ; \lambda)}{(n+1)!}+\cdots
\end{aligned}
$$

we compute residue of the function $\frac{1}{z^{n+1}} F_{y 1}(z, k ; \lambda)$ at $z=0$ as follows:

$$
\operatorname{Res}\left(\frac{F_{y 1}(z, k ; \lambda)}{z^{n+1}}, 0\right)=\frac{y_{1}(n, k ; \lambda)}{n!} .
$$

Thus, by combining the above equation with (42), we arrive at the desired result.

## 5. Computations and Numerical Evaluations

In this section, in order to compute numerical values of the functions $h(s, x ; k ; \lambda)$ given in (30) and interpolation functions $h(-n, x ; k ; \lambda)$ given in (31) related to the combinatorial numbers $y_{1}(n, k ; \lambda)$, we present two algorithms. Furthermore, by using these algorithms, we provide some plots of the function $h(s, x ; k ; \lambda)$ for some special values of its parameters. By means of the drawn plots, the effects of $s, x, k$ and $\lambda$ are demonstrated. Also, we present some observations and evaluations related to effects of the parameters.

```
\(\overline{\text { Algorithm } 1 \text { Let } k \in \mathbb{N} \text { and } s \in \mathbb{C} \text {. This algorithm will return numerical values }}\)
of the function \(h(s, x ; k ; \lambda)\) given in (30).
    procedure H_FUNC \((s, x, k, \lambda)\)
        Begin
        Lobal variables:
        \(j \leftarrow 0, S \leftarrow 0\)
        for all \(j\) in \(\{0,1,2, \ldots, k\}\) do
            \(S \leftarrow S+\) Binomial_Coef \((k, j) *(\operatorname{Power}(\lambda, j) / \operatorname{Power}(j+x, s))\)
        end for
        return \((1 / \operatorname{Factorial}(k)) * S\)
    end procedure
```

By using Algorithm 1, we draw a few graphs of the function $h(s, x ; k ; \lambda)$ for some special cases of its parameters and Figure 1 shows these graphs.

(a) The function $h(s, x ; k ; \lambda)$ for $x=1$, $\lambda=2, k \in\{1,2,3,4,5\}$ and $s \in[0,10]$.

(b) The function $h(s, x ; k ; \lambda)$ for $x=1$, $k=2, \lambda \in\{1,2,3,4,5\}$ and $s \in[0,10]$.

(c) The function $h(s, x ; k ; \lambda)$ for $s=1$, (d) The function $h(s, x ; k ; \lambda)$ for $s=1$, $\lambda=2, k \in\{1,2,3,4,5\}$ and $x \in\left[0, \frac{1}{5}\right] . \quad k=2, \lambda \in\{1,2,3,4,5\}$ and $x \in[0,60]$.

Figure 1. Some plots of the function $h(s, x ; k ; \lambda)$ for some special values of its parameters.

```
Algorithm 2 Let \(n, k \in \mathbb{N}\) and \(\lambda \in \mathbb{C}\). This algorithm will return numerical
values of the interpolation functions \(h(-n, x ; k ; \lambda)\) given in (31) related to the
combinatorial numbers \(y_{1}(n, k ; \lambda)\) whose computation algorithm was given in [33,
Algorithm 1] by Simsek.
```

```
procedure H_Int_Func \((-n, x, k, \lambda)\)
```

procedure H_Int_Func $(-n, x, k, \lambda)$
Begin
Begin
Lobal variables:
Lobal variables:
$l \leftarrow 0, S \leftarrow 0$
$l \leftarrow 0, S \leftarrow 0$
for all $l$ in $\{0,1,2, \ldots, n\}$ do
for all $l$ in $\{0,1,2, \ldots, n\}$ do
$S \leftarrow S+$ Binomial_Coef $(n, l) * \operatorname{Power}(x, n-l) * y_{1}(l, k ; \lambda)$
$S \leftarrow S+$ Binomial_Coef $(n, l) * \operatorname{Power}(x, n-l) * y_{1}(l, k ; \lambda)$
end for
end for
return $S$
return $S$
end procedure

```
end procedure
```

By the help of Algorithm 1 and Algorithm 2, we draw the functions $h(s, x ; k ; \lambda)$ and the interpolation functions $h(-n, x ; k ; \lambda)$ for $s=-n ; n \in$ $\mathbb{Z}^{+}$in the case of $x=1, k=1,2,3,4,5$ and $\lambda=2$, and these graphs are given by Figure 2.


Figure 2. Combined graphs of the functions $h(s, x ; k ; \lambda)$ and the interpolation functions $h(-n, x ; k ; \lambda)$ for $s=-n$; $n \in \mathbb{Z}^{+}$, in the case of $x=1, k=1,2,3,4,5$ and $\lambda=2$.

## References

[1] P. Amore, Convergence acceleration of series through a variational approach, J. Math. Anal. Appl. 323 (2006), 63-77.
[2] A. Bayad, Y. Simsek and H. M. Srivastava, Some array type polynomials associated with special numbers and polynomials, Appl. Math. Compute. 244 (2014), 149-157.
[3] M. Bona, Introduction to Enumerative Combinatorics, The McGraw-Hill Companies, Inc. New York, 2007.
[4] K. N. Boyadzhiev, Binomial transform and the backward difference, arXiv:1410.3014v2.
[5] C.-H. Chang, C.-W. Ha, A multiplication theorem for the Lerch zeta function and explicit representations of the Bernoulli and Euler polynomials, J. Math. Anal. Appl. 315 (2006), 758-767.
[6] N. P. Cakic and G. V. Milovanovic, On generalized Stirling numbers and polynomials, Mathematica Balkanica 18 (2004), 241-248.
[7] C. A. Charalambides, Enumerative Combinatorics, Chapman\&Hall/Crc, Press Company, London, New York, 2002.
[8] J. Choi and H. M. Srivastava, Some summation formulas involving harmonic numbers and generalized harmonic numbers, Math. Comput. Model. 54 (2011), 2220-2234.
[9] L. Comtet, Advanced combinatorics, D. Reidel, Dordrecht, 1974.
[10] D. F. Connon, Some series and integrals involving the Riemann zeta function, binomial coefficients and the harmonic numbers Volume I, arXiv:0710.4022.
[11] D. F. Connon, Some series and integrals involving the Riemann zeta function, binomial coefficients and the harmonic numbers Volume $I I(a)$, arXiv:0710.4023.
[12] D. F. Connon, Some series and integrals involving the Riemann zeta function, binomial coefficients and the harmonic numbers Volume $I I(b)$, arXiv:0710.4024.
[13] D. F. Connon, Some series and integrals involving the Riemann zeta function, binomial coefficients and the harmonic numbers Volume III, arXiv:0710.4025.
[14] D. F. Connon, Some infinite series involving the Riemann zeta function, International Journal of Mathematics and Computer Science 7 (2012), no. 1, 11-83.
[15] Y. Do and D. Lim, On $(h, q)$-Daehee numbers and polynomials, Adv. Difference Equ. 2015 (2015), no. 107, 1-9, Doi:10.1186/s13662-015-0445-3.
[16] G. B. Djordjevic and G. V. Milovanovic, Special classes of polynomials, University of Nis, Faculty of Technology Leskovac, 2014.
[17] R.L. Graham, D.E. Knuth, O. Patashnik, Concrete Mathematics, Addison-Wesley Publishing Company, Reading, Massachusetts, 1989.
[18] H. Hasse, Ein Summierungsverfahren für Die Riemannsche $\zeta$-Reithe, Math. Z. 32 (1930), 458-464.
[19] T. Kim, Analytic continuation of multiple $q$-zeta functions and their values at negative integers, Russ. J. Math. Phys. 11 (2004), no. 1, 71-76.
[20] D. S. Kim and T. Kim, Daehee numbers and polynomials, Appl. Math. Sci. (Ruse) 7 (2013), no. 120, 5969-5976.
[21] D. S. Kim, T. Kim, J. Seo, A note on Changhee numbers and polynomials, Adv. Stud. Theor. Phys. 7 (2013), 993-1003.
[22] D. S. Kim, T. Kim, S.-H. Lee and J.-J. Seo, A note on the lambda-Daehee polynomials, Int. J. Math. Anal. 7 (2013), no. 62, 3069-3080.
[23] G. G. Lorentz, Bernstein Polynomials. Chelsea Pub. Comp: New York, N. Y., 1986.
[24] Q. M. Luo, H. M. Srivastava, Some generalizations of the Apostol-Genocchi polynomials and the Stirling numbers of the second kind, Appl. Math. Comput. 217 (2011), 5702-5728.
[25] J. Riordan, Introduction to Combinatorial Analysis, Princeton University Press, 1958.
[26] Y. Simsek, Interpolation function of generalized $q$-Bernstein type polynomials and their application. J.-D. Boissonnat et al. (Eds.): Curves and Surfaces 2011, LNCS 6920, Springer-Verlag Berlin Heidelberg, 2012, 647-662.
[27] Y. Simsek, Generating functions for generalized Stirling type numbers, array type polynomials, Eulerian type polynomials and their applications, Fixed Point Theory A. 2013 (2013), no. 87, 1-28.
[28] Y. Simsek, Analysis of the Bernstein basis functions: an approach to combinatorial sums involving binomial coefficients and Catalan numbers, Math. Method. Appl. Sci. 38 (2015), no. 14, 3007-3021.
[29] Y. Simsek, Apostol type Daehee numbers and polynomials, Adv. Stud. Contemp. Math. 26 (2016), no. 3, 555-566.
[30] Y. Simsek, Computation methods for combinatorial sums and Euler type numbers related to new families of numbers, Math. Method. Appl. Sci. 40 (2017), no. 7, 23472361.
[31] Y. Simsek, Identities and relations related to combinatorial numbers and polynomials, Proc. Jangjeon Math. Soc. 20 (2017), no. 1, 127-135.
[32] Y. Simsek, On parametrization of the $q$-Bernstein Basis functions and Their Applications, Journal of Inequalities and Special Functions 8 (2017), no. 1, 158-169.
[33] Y. Simsek, New families of special numbers for computing negative order Euler numbers and related numbers and polynomials, to appear in Appl. Anal. Discrete Math., arXiv:1604.05601v1.
[34] Y. Simsek, Construction of some new families of Apostol-type numbers and polynomials via Dirichlet character and p-adic $q$-integrals, to appear in Turk. J. Math., doi: 10.3906/mat-1703-114.
[35] J. Sondow, Analytic Continuation of Riemann's Zeta Function and Values at Negative Integers via Euler's Transformation of Series, Proc. Amer. Math. Soc. 120 (1994), 421-424.
[36] M. Z. Spivey, Combinatorial Sums and Finite Differences, Discrete Math. 307 (2007), no. 24, 3130-3146.
[37] H. M. Srivastava, T. Kim, Y. Simsek, q-Bernoulli numbers and polynomials associated with multiple $q$-zeta functions and basic L-series, Russ. J. Math. Phys. 12 (2005), 241268.
[38] H. M. Srivastava and J. Choi, Zeta and $q$-Zeta Functions and Associated Series and Integrals, Elsevier Science Publishers: Amsterdam, London and New York, 2012.
[39] E. Yuluklu, Y. Simsek, T. Komatsu, Identities Related to Special Polynomials and Combinatorial Numbers, Filomat 31 (2017), no. 15, 4833-4844.

Department of Software Engineering Faculty of Engineering and Architecture Antalya Akev University Antalya, TURKEy.

E-mail address: iremkucukoglu90@gmail.com
Department of Mathematics Faculty of Science University of Akdeniz TR07058 Antalya, TURKEY.

E-mail address: ysimsek@akdeniz.edu.tr

